CD-ID: Narex CZ 2018_v19r01

65404599 - EBU 230-26

Strana1z3

24.09.2018



65404599 - EBU 230-26

CD-ID: Narex CZ 2018_v19r01

Pozice |Polozka Mn. |Nazev Typ Poznamka :oﬁ:;o;ll(';i
6 65405012 1| Vreteno EBU 230-26
7 65405013 1 | Klinek 4*5%13
8 65405014 1 | Prachovka LV EBU 230-26
9 65405015 4| Sroub M5*16

10 65405016 1| LozZiskové viko EBU 230-26
11 65405017 1| Tésnéni LV EBU 230-26
12 65405018 1| Lozisko 6203-2RS
13 65405019 1| Vicko LV EBU 230-26
14 65405020 7 | Pruzné Podlozka D4
15| 65405021 7 | Sroub M4*12
16 65405022 1| Vietenové Kolo EBU 230-26
17 65405023 1| Pojistny krouze D15
18 65405024 1| Lozisko 609-27
20 65405025 1| Pfevodova skiin EBU 230-26
21 65405026 4 | Sroub St 4,8*35
22 65405027 1| Aretacni Tlacit EBU 230-26
23 65405028 1| Pruzina 10X8X1
24 65405029 1| Pojistny krouze 8X1
25 65405030 1 | Matice M8
26 65405031 1 | Pastorek EBU 230-26
27 65405032 1| Lozisko 6301-2RZ
28 65405033 1| Vicko RT EBU 230-26
29 65405034 1 | Rotor EBU 230-26
30 65405035 1| Kryci Krouzek EBU 230-26
31 65405036 1| Lozisko 6000-2Z
32 65405037 1| Loziskové Pouzd 6000
33 65405038 1|Vzduch Vlozka EBU 230-26
34| 65405039 2 | Sroub ST 4,8X75F
35 65405040 1 | Stator EBU 230-26
36 65405041 1| Kryt Kartace R EBU 230-26
39 65405042 1| Kryt Kartace L EBU 230-26
37 65405043 1| Motorova Skfin EBU 230-26
38 65405044 4 | Sroub ST 4,2X12F
40 65405045 1 | Kartace Sada EBU 230-26
41 65405046 1| Drzak Kartace EBU 230-26
42 65405047 1 |Drzadlo L EBU 230-26
43 65405048 1 | Elektronika EBU 230-26
44 65405049 1| Kondenzator 0,33 UF
45 65405050 1| Spinac EBU 230-26
46| 65405051 1| Sroub ST 4,2X25F
47 65405052 1| Drzadlo P EBU 230-26
48| 65405053 1| Sroub ST 4,2X14F
49 65405054 1 | Svorka PP EBU 230-26
24.09.2018 Strana2z3



65404599 - EBU 230-26

CD-ID: Narex CZ 2018_v19r01

. . . z Pavodni
Pozice |Polozka Mn. |Nazev Typ Poznamka polozka
50 65405055 1| Navlacka HO7
51 65405056 1| Pohyblivy pfivo HO7 RN-F 2X1,5
24.09.2018 Strana3z3



